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QUESTION 1

Which one of the following is NOT a survive technique? 

A. Probability based rule 

B. Most Frequent 

C. Longest Field 

D. Most Recent 

Correct Answer: A 

 

QUESTION 2

Which of the following is TRUE regarding the use of Critical Fields? 

A. Critical Fields are used to identify fields that must agree in order for records to be linked. 

B. Critical Fields do not have to match exactly. 

C. Only critical fields of a record are used to calculate the composite weights of the record. 

D. Critical Fields are fields with missing values. 

Correct Answer: A 

 

QUESTION 3

Which of the following will be generated by a QualityStage Word Investigate job? 

A. Pattern report and token report. 

B. Sample report and detail report. 

C. Pattern report and output report. 

D. Sample report and token report. 

Correct Answer: A 

 

QUESTION 4

Which of thefollowing should be avoided regarding the use of Match Improvement Strategy? 

A. Use only one Match Pass. 

B. Set critical values for important fields. 
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C. Add additional passes. 

D. Adjust weights using weight overrides. 

Correct Answer: A 

 

QUESTION 5

If data value 46A X32 is investigated using an all-T mask, what would the result look like? 

A. nncbcnn 

B. nnabann 

C. nnxxxnn 

D. nnc-cnn 

Correct Answer: B 
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